Schedule: A

Project No.: FEL-ERFO

Project Name: FELSENTHAL NWR

State: AR Opened at: Sterling, VA
County: UNION By: Deborah Ranciato

US FISH AND WILDLIFE SERVICE Date: 09/13/02

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: \_\_\_\_\_D. RANCIATO

PROGRAM SPECIALIST Date: 9/13/02

Contract Awarded to: YELLOWHAMMER, INC.

Date: <u>9/27/02</u>

Contractor	Bid Amount	Responsive
YELLOWHAMMER, INC. 51 NEELEY LANE MORRILTON, AR 72110	139,850.00	
IDEAL CONSTRUCTION COMPANY 803 WEST FIRST AVENUE CROSSETT, AR 71635	145,957.32	
Engineer's Estimate	130,000.00	

Date: 09/18/02

Schedule: A

Project No.: FEL-ERFO

Project Name: FELSENTHAL NWR

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM	MOBILIZATION			
	YELLOWHAMMER, INC.		ALL	7,000.00	7,000.00
	IDEAL CONSTRUCTION C	OMPANY		11,833.44	11,833.44
	ENGINEER'S ESTIMATE			12,895.00	12,895.00
15201	LPSM CONSTRUCTION SURVEY AND STAKING				
	YELLOWHAMMER, INC.		ALL	3,000.00	3,000.00
	IDEAL CONSTRUCTION C	OMPANY		2,829.28	2,829.28
	ENGINEER'S ESTIMATE			3,300.00	3,300.00
15401	LPSM	CONTRACTOR TESTIN	G		
	YELLOWHAMMER, INC.		ALL	2,500.00	2,500.00
	IDEAL CONSTRUCTION C	OMPANY		2,900.00	2,900.00
	ENGINEER'S ESTIMATE			5,500.00	5,500.00
15703	LNFT	SILT FENCE			
	YELLOWHAMMER, INC.		450	4.00	1,800.00
	IDEAL CONSTRUCTION C	OMPANY		3.16	1,422.00
	ENGINEER'S ESTIMATE			3.70	1,665.00
20101	ACRE	CLEARING AND GRUB	BING		
	YELLOWHAMMER, INC.		0.25	8,000.00	2,000.00
	IDEAL CONSTRUCTION C	OMPANY		17,701.60	4,425.40
	ENGINEER'S ESTIMATE			4,000.00	1,000.00
20401	CUYD	ROADWAY EXCAVAT	ION		
	YELLOWHAMMER, INC.		1,000	12.00	12,000.00
	IDEAL CONSTRUCTION C	OMPANY		7.54	7,540.00
	ENGINEER'S ESTIMATE			11.00	11,000.00
20701DI	B SQYD	EARTHWORK GEOTEX	TILE, TYPE IV-B		
	YELLOWHAMMER, INC.		1,800	2.50	4,500.00
	IDEAL CONSTRUCTION C	OMPANY		1.73	3,114.00
	ENGINEER'S ESTIMATE			3.30	5,940.00
25101C	CUYD	PLACED RIPRAP, CLAS	SS 3		
	YELLOWHAMMER, INC.		600	50.00	30,000.00
	IDEAL CONSTRUCTION C	OMPANY		63.57	38,142.00
	ENGINEER'S ESTIMATE			45.00	27,000.00

Date: 09/18/02

Schedule: A

Project No.: FEL-ERFO

Project Name: FELSENTHAL NWR

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30101Z	TON	AGGREGATE BASE, GI	RADING C OR D		
	YELLOWHAMMER, INC.		230	50.00	11,500.00
	IDEAL CONSTRUCTION C	OMPANY		34.80	8,004.00
	ENGINEER'S ESTIMATE			25.00	5,750.00
50101Q	SQYD	REINFORCED PORTLA	ND CEMENT CONCRET	E PAVEMENT, 8-INCH	I DEPTH
	YELLOWHAMMER, INC.		700	60.00	42,000.00
	IDEAL CONSTRUCTION C	OMPANY		48.00	33,600.00
	ENGINEER'S ESTIMATE			55.00	38,500.00
55402	LB	EPOXY COATED REIN	FORCING STEEL (TOE W	ALLS)	
	YELLOWHAMMER, INC.		1,750	0.60	1,050.00
	IDEAL CONSTRUCTION C	OMPANY		1.14	1,995.00
	ENGINEER'S ESTIMATE			1.00	1,750.00
60101	CUYD	CONCRETE (TOE WAL	LS)		
	YELLOWHAMMER, INC.		55	300.00	16,500.00
	IDEAL CONSTRUCTION C	OMPANY		479.82	26,390.10
	ENGINEER'S ESTIMATE			180.00	9,900.00
62509	ACRE	TURF ESTABLISHMEN	NT		
	YELLOWHAMMER, INC.		0.1	5,000.00	500.00
	IDEAL CONSTRUCTION C	OMPANY		6,438.00	643.80
	ENGINEER'S ESTIMATE			3,000.00	300.00
63304CC	SQFT	SIGNS, ALUMINUM PA	ANELS, TYPE 3 SHEETIN	G	
	YELLOWHAMMER, INC.		50	30.00	1,500.00
	IDEAL CONSTRUCTION C	OMPANY		30.00	1,500.00
	ENGINEER'S ESTIMATE			30.00	1,500.00
63505C	EACH	BARRICADE, TYPE 3			
	YELLOWHAMMER, INC.		4	250.00	1,000.00
	IDEAL CONSTRUCTION C	OMPANY		174.00	696.00
	ENGINEER'S ESTIMATE			550.00	2,200.00
63507	SQFT	CONSTRUCTION SIGN			
	YELLOWHAMMER, INC.		50	30.00	1,500.00
	IDEAL CONSTRUCTION C	OMPANY		13.11	655.50
	ENGINEER'S ESTIMATE			20.00	1,000.00

Date: 09/18/02

Schedule: A

Project No.: FEL-ERFO

Project Name: FELSENTHAL NWR

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63705	LPSM	LONG DISTANCE CALLING			
	YELLOWHAMMER, INC.		ALL	1,500.00	1,500.00
IDEAL CONSTRUCTION COMPANY			266.80	266.80	
	ENGINEER'S ESTIMATE			800.00	800.00